
SAP ABAP table T5ITQC_2 {PAT/VT - Contribution Code - Weighted INAIL Rate}

T5ITQC_2

MANDT [CLNT (3)]

PATIN [NUMC (10)]

VTINA [CHAR (4)]

SEQNO [NUMC (4)]

ENDDA [DATS (8)]

VTINA_ALT [CHAR (4)]

T000

MANDT [CLNT (3)] T5ITQC_2-MANDT = T000-MANDT 0..N

1

T5ITQA

MANDT [CLNT (3)]

PATIN [NUMC (10)]

ENDDA [DATS (8)]

 T5ITQC_2-PATIN = T5ITQA-PATIN 
0..N

1

T5ITQB

MANDT [CLNT (3)]

VTINA [CHAR (4)]

ENDDA [DATS (8)]

 T5ITQC_2-VTINA = T5ITQB-VTINA 

0..N

1

 T5ITQC_2-VTINA_ALT = T5ITQB-VTINA 

0..N

1


